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Werkblad: Oefenen met erbij en eraf tot 20

In de mix

10+5=

13)(15)(1)28)

9-2=

DIOIVIO

3+2=

10/(7)(s)(8)
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3+1=

ICVOIEY

6.

5-4=

DO

10.

10-0=

(1)a)a0)(s

14.

8+3=

(8)(16)20) (1)
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10+5=

16)(3 (1518,

1.

10+2=

(410212

11.

9+2=

SOIOICHE

15.

9-1=

12)(8)(1)(e)

19.

8+1=

1020/ )(7)

10+2=

z)ae )

8.

10+9=

19)(1)(23) (9

12.

10-7=

DIDIOIE)

16.

1+0=

(1)(2)(3)(s)

20.

10-3=

OIICED)
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In de mix

10+5= 3+1= 10+5= 10+2=
13)as)(1 8] (a)(2)(8)(1)  (1e)(3)0s)as)  (7)02)a0)(s)
5. 9-2= 6. 5-4= 7. 10+2= 8' 10+9=
IO RN OICI RN DIENCRNEDINEDIC)
9. e 10.10_0: 11.9+2: 12.10_7:
w(0s) (Unao(s) (s)e)(a 3y (6)(3)(4)(2)
13.3_02 14.3+2: 15.9_12 16.1+O:
e)3)(1r) (s)(7)2)0 (2)(s)(1)e)  (1)(2)(3)(s)
17.3+2: l8.8+3: l9.8+l: 20.10_3:
10(7)(s)(8)  (s)fe)a0)an (awa0)(s (7] (6)(7(9)10
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